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Abstract: This contribution describes a new use case for FS_EASNS

1. Proposal 
It is proposed to agree on the following text proposal for FS_EASNS. 

*****************************START of TEXT PROPOSAL (All New Text) *****************************

5.x.	Service scenario for disjoint network slices
[bookmark: _Toc355779204][bookmark: _Toc354586742][bookmark: _Toc354590101]5.x.1	Description
As more network slices are deployed, it is likely that each UE is subscribed to multiple network slices. While some network slices services can be simultaneously provided to the UE, there can be network slices which cannot simultaneously provide servicesd to the UE. This is because there are multiple related factors for a network slice, e.g., enterprise use vs personal use, isolation requirement, general public use vs public safety use, frequency limitation, location restriction, etc. 
5.x.2	Pre-conditions
Figure 5.x.2-1 shows the use case scenario where a RAN node connects to two disjoint network slices. Accordingly, the two network slices are isolated and cannot be simultaneously provided to the UE. 


Figure 5.x.2-1 Initial condition

In this figure, it is assumed that
· Subscription and configuration:
· UE A1 and A3 have a subscription to slice M.
· UE A2 and A3 have a subscription to slice N.
· For UE A3, it is configured which applications use which network slices.
· Deployment:
· Slice N and Slice M are isolated.
· RAN is able to connect to both Slice M and Slice N.
· Slice M and Slice N are provided by the same PLMN.
[bookmark: _Toc355779205][bookmark: _Toc354586743][bookmark: _Toc354590102]
[bookmark: _Toc355779206][bookmark: _Toc354586744][bookmark: _Toc354590103][bookmark: _Toc41474492]5.x.3	Service Flows
Following is the service flow for UE A1, A2 and A3 when the signaling from these UEs isare initially routed toward nodes managing Slice N:
-	UE A1, A2 and A3 selects the NG-RAN and start registration. 
-	Network provides connectivity service to UE A1, A2 and A3. However, the network does not provide connectivity service to UE A1, because the UE A1’s subscription does not include Slice N. Thus, the UE A1 needs to switch to network nodes which supports Slice M, as soon as possible.
-	While the UE A3 is connected to slice N, the network cannot provide connectivity service of Slice M to UE A3. The user traffic applicable to Slice N is transported.
- 	Later, user traffic configured to use slice M is generated in UE A3. While the same NG-RAN is used, the UE is switched to network nodes providing service to network slice M. 
-	If the user prioritizes applications configured to use slice N, as soon as applications configured to use slice M finish, the UE A3 needs to move back to network nodes supporting Slice N, to minimize the latency. 

[bookmark: _Toc41474493]5.x.4	Post-conditions
UE A1 is connected to network nodes supporting Slice M.
UE A2 is connected to network nodes supporting Slice N.
UE A3 switches between network nodes supporting Slice N and Slice M, depending on e.g. ongoing applications or user preference.

[bookmark: _Toc41474494]5.x.5	Existing features partly or fully covering the use case functionality
Editor’s note: The gap analysis needs to be added.

[bookmark: _Toc41474495]5.x.6	Potential New Requirements needed to support the use case
The fFollowing new requirements can be derived from this use case:
· For a UE subscribing to multiple network slices which cannot be simultaneously provided to the UE, the 3GPP 5G system shall be able to provide the UE with the most suitable network slice (e.g. based on the ongoing applications, user preference).
· For a UE subscribing to multiple network slices which cannot be simultaneously provided to the UE, the 3GPP 5G system shall support change of provided network slices with minimized interruption e.g. when triggered by change of active applications, priorities. 
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